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(i) Bug @ ydndEd By B D.
eT6veur el EEHHGL allenL  HHo.

Answer all questions.

(i) 1-40 el gdmac (1), (2),(3), (4) BE€xdiD8s B GE cwi DO vigewm ewl BERS ewid vslim.
1apsed 40 cuamywisiten @suaurgy eflsmmralleond (1),(2), (3), (4) een aiswtenflinn L efenssilsd sflureng
Sis0e0gEl &0 GuImSSIDTeNg! 6lel Hhkss SmH&HID g ellmlomws Cofieabsus.

From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.

(iif) @0 swews BEno vyed odf 0= udnv wtw € 1B ©b gueds @8 ooit o 88nel guowd witeL®
=8a gg (X) cyns emess.
2 10&@E upRISULILEeTsT el SSrelled @eaulaurm elenma)dGd 2 flul alLhisaflsd 2 gl
sl ullsh @evdsssHmd o5 aulLGaauenBer ysengenwu (X) @6s.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

(iv) 2@ B8no vped Bgue € ¢if peord ctess ¢ iCBEEO vuim.
allenL_spnefel iBLBHsSs SIUULGsien BB fa|pisss0seauD SHasnors anmdlbhg Dsubenpl

HeuBes.
Further instructions are given on the back of the answer sheet. Follow them carefully. )

1. »>%80E dmm minr O5es svn Sils o= ¢?
BEF&EIE @eniel usliwre oisnaugl amimbaiseuBnisT 6igi?
Which of the following is the function of a natural?
(1) It raises a note by a tone, (2) It lowers a raised note by a semitone.

(3) It lowers a note by a semitone. (4) It raises a raised note by a semitone.

2. 2 18 avds e@ylien 8880 gdos edtd O oo wews Sds RO ¢?
SIUUL@sitsn UM @ewe) A QFuiusn@:d Chmauirer Gyebl. UsisumeresuBmist 6igi?
Which of the following rest is needed to complete the given bar?

3 *
(1) Dotted Quaver rest (2) Demi Semi Quaver rest
(3) Hemi Demi Semi Quaver rest (4) Semi Quaver rest

3. & 918 U om0 gyeyy 088 Bderitdn dfer’ vuvn D184 @ ¢?
SO Gstten uny @BGU CQurmbsonan b AeCaday Nsimigmersneupmsi 6157
Which of the following time signatures will be the correct one to the given bar?

4 : s
%}' % ,-,rﬁ 7 S | m
L EEEE
1) 2 2) 6 3) 4 4) 3
()2 (2) 8 {)4 4) 3 J

[2 08 B0 Resl®. / ud. 2 gU uniss [ See page 2

(Nl g LT daoeok e wdtiskiaclodo o/88at 59/ coud R I EEE kel www. olevelapi.com LR



OL/2017/41/STE-L, II (NEW) il

4. g o088 Bemitcud Pebol ucs emude B6d &7
g sojib AaCarafled subsensy GCaa) Lsted BHHEGID?
How many quaver pulses are there in g time signature 7

(1y 3 (2) 6 3 9 4 12

5. C 88mded e5cdd e®dded B Bdesods Bun B pdu v 6gws SD8s RO ¢?
C sowenij AGeopiss Goggflsd & AGamsgeny siupgid aflwirer (pop saimeeneubmist oigi?
Which of the following is the correct way of writing the key signature of the relative major of C minor?
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6. Aobe®iSs 08moed ‘@8 0530’ ¢ cddl decen ‘BBertd’ On @51 6d. vyn W’ S8z 68
dosce O ¢?
A o Bioredd evwenfled ‘efigni GEm” sieng Coggy ebGmeflsd ‘Wigwish' gyt BUTEIBGTELD. LsiteugeuseuBmis
@6t erOBasd 6157
The ‘leading note’ of A Harmonic Minor is the same as the ‘mediant’ of a Major scale. Which of the following

major scales is it?
(1) G Major (2) E Major (3) E® Major (4) D Major

7. eeudedisis eon@id desce cvn Bgms SNBSS Qe ¢?
RafBLTsey Beveuns er0BHme0 LisToumenaeubmisT 61517
Which of the following scales have no semitones?
(1) Harmonic Minor Scale (2) Melodic Minor Scale
(3) Major Scale (4) Pentatonic Scale

8. DSBS 08nY deseed gelichBE o &8 emid ¢vd el €00 g aedsies’ vom 6w
FD0853 @858 ¢?
aprBonald ewery eoBselsdy &UUFBLIRD, ofigm GBI SSeuBpsalsnL uleorear  srdeug Eent_Glaustil
SeiaumausTaubmisit s1@lsd St U Gsiengi?
Which of the following is the interval between the supertonic and the leading note of a Harmonic minor

scale?
(1) Major 6™ (2) Minor 60 (3) Augmented 6" (4) Diminished 6%

9. D@8nded B8 guims embses vvm wewsl SHds QYOS ¢?

D sowenfle fenyiopd L gun. Siedeonssl 1isiisumeusnoubmis 61gi?
Which of these is not a Primary triad in D minor?

W % o e o g o« Bgig

10. 08 C o0l derdes owsm BO, g 306w Be vues RO ¢?

priuwseit C Gogey eoGmemsult LFGHLEUTSI g SOBUILONS DIMOWLSHHHBEH 61517

When you sing the scale of C major, the note E; would be,
(1) Doh (2) Fah 3) Te (4) Soh

11. V-1 Bom 80 gomeds e enid tes €00 ton wqwsl 8083 e ¢?
V-1 g eipsib@Guigy ensell UG Gyrafid Gaomger ebeuyid LediaugnensaeuBmis 61517
Which of these notes is omitted in the tonic chord when V’-I is written?

(1) Root (2) 34 (3) 5 4) ™
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12. ©®® Dumsed B8eadd Has Hed ¢?
EsieunaaSISH ahsmer FeoLIsseT 9 _siTeren?
How many syllables are there in this sentence?
“Rain in Spain falls mainly on the plain”

() 9 (2) 10 3 11 4) 12

13. Bedim 900 6@r1m eudls w.dn wimils pOnl ¢?
@Burelsll @eld@F Fwonem FmpdCahw GmssHamel wirg?
Which oriental instrument sounds like the Oboe?
(1) Esraj (2) Tampura
(3) Horanewa (4) Nadesvaran

14. oson wgws $01855 406 nos Sedsies’ ¢®DB5 @O ¢?
UlereugpeusmeuBmpIst 61860 epeiim erbsugmisen  SrsuiLB?
Which of the following consists of three notes?
o ¥ 2) Av GB) o~ 4 tr

-

15. &8 woBned 90 embded e®DiBs @ ¢?
@eubmisit ganed Gemaulesd LWETLRSSILIL THSH s1HI7
Which of these is not used in Jazz music?
(1) Piano (2) Trumpet
(3) Clarinet (4) French Horn

16, & coned g@enis! quwd gus Hunws djes! e®0i85 e ¢?
Geomensuier Agours sreusHSn@iu uted @eubmist gt ?
Which of these is a song of the Gramophone era in Sri Lanka?

(1) Suwanda Padhma...

(2) Gaambhira Thedathi Konsthanthinupure...
(3) Siri Buddha Gaya Vihare...

(4) Vasana Dineki...

17. 5o O5imeds’ Sdnd emedn vds o Doles’
SUMIGT cusmismihAey AHHAHESILGD HOL WG WG!?
Thuranga Wannama depicts the gait of the
(1) Horse. (2) Elephant.
(3) Hare. (4) Monkey.

18. mUBOE € vdn eamon w.Bn weEhs sun 01853 R ¢
BiS@Hulsh LuSLUESSLLLTS Eensssmel Llsaumsuataubmist 6g?
Which of the following instrument is not used in, Nurthi?

(1) Flute (2) Harmonium
(3) Maddala (4) Tabla

19. o5ig® 8yl weon Beyes e vudess
LBrrallymb ElenFbEnel 2 _SAJemioTs DEMOUIGSHEHSHSH]
An example for Programme Music would be
(1) Clock Symphony. (2) Carnival of Animals.
(3) Liebestraum. (4) Moonlight Sonata.

[4 &5 B Dea®. / usb. 4 g urjss / See page 4
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20. odubenmd eminws Dulent vom GBS @ ¢?

Buuflusl. CaLsiied s Diensudl LseugmeusteuBsT sig?

Which of the following is an Imperfect Cadence?
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0 Beed 98 Bistes’ cvn 6LYs OB @B MeIDs ¢?
Qe &Gent el LWHLIGSSIONG auGD abhs Sensbameiulsy o@id?
Which of these instruments will use the Tenor Clef?

(1) Cor Anglais (2) Violoncello 3) Viola

French Horn 4

e888s3 edud O Dries RO ¢?
Soummisit Ceugiul L & 61517
Which one is the odd one out?

(1) Tom-toms (2) Floor-tom

(3) Timpani (4) Hi-hat cymbal

Bevtds dries? e®08s ¥ ¢?
Beoubmist 618 PlUIT SUGID?
Which of these is an opera?

(1) Eine Klein Nacht Music (2)
(3) Elijah G))]

The Seasons
Lohengrin

30FE ©:.8m meEine® ooy B0 Boes 8o oes
L sbard @ash@ep LB U UIL6UTS DIDIDUIHSHEHEH!
A song by the Beatles would be
(1)  You raise me up.
(3) Yesterday.

(2) Flow Gently Sweet Afton.
(4) When the Saints Go Marching in.

5&ed ® Bead 0o D@0 Gie @D o wed ©E ¢?
sang @lLITens SIHIGHDHIINSHE SPnQETamD Biorenidseu] wrj?
Who built a theatre to perform his own operas?
(1) Verdi (2) Schumann (3) Berlioz (4) Wagner
©e350005 o€ OO0 O O eml® ders ¢?
Qameri LT geinflell (pSHeonaug cpsibiosi’. 6ihs BuUIMisd eisub?
In which form is the 1% movement of a Sonata?
(1) Binary Form (2) Ternary Form (3) Rondo Form (4) Sonata Form
DemtPped D@ By weidun &S00 D08 b B el de Digvw g i 8803 B edides du
Dies
GESUITONY oINS FheHs Gpelsd avaumiseT @amre wWipl uGHWIID BmebHohamigul et 6
SO &d QErsindsHsas
A digital keyboard which can instantly reproduce the sound of any instrument of the orchestra over the full
range of the keyboard would be
(1) Looping (2) Mixing

(3) Sampler (4) Sequencing

(Nl g LT daoeok e wdtiskiaclodo o/88at 59/ coud R I EEE kel www. olevelapi.com LR

[5 &5 80P Deom. / us. 5 gl unjss / See page S



OL/2017/41/STE-I, IT (NEW) 3

28, 845700 o o JES emedsies’ vun G083 ROV ¢?
esieumesebmisii siGe (peoib Wameu. @eirgy umel elsuflbasiLGang?
Which of the following describes a Minuet?

(1) A French dance with 3 beats in a bar

(2) A Viennese dance with 3 beats in a bar

(3) A Latin American dance with 4 beats in a bar

(4) An Argentinian dance form with 2 or 4 beats in a bar

29. oD dodews cOBvsies’ sun ewsl RO Jude &7
esieuptd ebs Ll mibsieug euafHH SLbIGH@Gn?
Which of the following positions of a triad begins on the fifth note?
(1) Root position (2) First inversion (3) Second inversion (4) Third inversion

30. 8O oms OBles’ vvn wgws JHBs I ¢?
UeiaugmessneuBmisi @@ 5 S5 Mool sihl?
Which of the following is a Lied?
(1) Clair de Lune (2) Who is Sylvia? (3) Eroica (4) Bolero

3l. emsiResioc/eBemB HBWO VBN nEg »IBus dies’ vunm OB RO ¢?
Wereumeaeupmieh Qe gusiied / QuiedGuralld pemulsd ewsuULL B 657
Which of the following compositions is written in Contrapuntal / polyphonic style?
(1) Moonlight Sonata — Beethoven (2) Sonata in D —Schubert
(3) Prelude and Fugue No. 1 — Bach (4) 1812 Overture — Tchaikovsky

32. oB8edusi eni® dewsl g mBur D5ies’ cum wewsd D88 RO ¢?
Weneumeussubmist CouflGwagsr Cumlsd Siminbs Hired egi?
Which of the following compositions is in Variation form?
(1) Handel — Harmonious Blacksmith (2) Beethoven — Minuet in G
(3) Chopin - Minute waltz (4) Bach —Minuet in G minor

33. o sdned gfeens eddes vwn dD1BsT ¥ ¢7?
Ueraumaisaoibmieil pelar @emeuls Usiil| DieVsoTSHl 61517
Which of the following is not a characteristic of modern music?
(1) Chromatic harmony (2) Syncopated rhythms
(3) Unusual sound effects (4) More than one melody at a time

4. PieieniBe .dn Mmesos DEles vvn S8z RS ¢?
eliengpeueneumysii Lraiero@urdin Elemessmel g7
Which of the following is a transposing instrument?
(1) Flute (2) Double Bass (3) Trombone (4) Oboe

35. ‘Inasinging style’ ©1¢mcs 80800 ewigs gmB ewg® owm 80i8s1 @ ¢?
Neisumeustaupgiei 'In a singing style' @e1 @ QasfiLGHHNISBG LUSUESSUUGD BdHSTedWl
Wyt e18:1?
Which of the following Italian terms means to play ‘In a singing style’?
(1) Calando (2) Crescendo (3) Cantabile (4) Con Moto

36. BB VentdE BBn Wed e BEOD o4 BHGeE wdvims Drfes] e®218s Q@ ¢?
Goupmish @CuIRsTsifanTsd GHEaVL T Qmad smelamen fls CFlinsBEel LWSTUGHSUILGBD I 38 o]

hgmedt e1gy)?
Which of the following is the frequency of the tuning note for the orchestral instruments given by the Oboe?
(1) 256 Hz (2) 440Hz (3) S512Hz (4) 880 Hz

37. o088 ©:8n tmwd g dFfes’ vwn S8 RO ¢?
Ueiraugmessioubpien Gabuy @oma) 1Mfladbe o fésreasn s5?
Which of the following is a type of Chamber music?
(1) Symphony (2) Violin Concerto (3) String Quartet (4) Ballet

e
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38. & 1B ed0d orinde Sudnd g vuder e®Di8s3 np@Bs ¢?
Beubmish e1HeT apeold SFOULBsien srosuy GemtGlsusiiasnsn sfleuflbmeomid?
Which of the following will describe the given interval?

=S

(1) Chromatic Semitone (2) Diatonic Semitone
(3) Unison (4) Enharmonic Equivalent

39, Penddds v »F BWEE®»OEHD Vow BE Wl mBus D& efs Bend ewmedsies’ swm Y1853
D®8s8 ¢7
gaelgrellsd safssmflan b @mssd Ger@ueu 1sF fpiurs ellsufliug sieumsissuBmiet 617
Which of the following will best describe a musical composition for a Solo Clarinet accompanied by the

Orchestra?
(1) Clarinet Quartet  (2) Clarinet Concerto (3) Clarinet Duet (4) Clarinet Symphony

40. ocom scws DTS eneds BIOE DostBic RO ¢?
\edsumld andmisEnst Uenipwineng s1gi?
Which of the following statement is not correct?
(1) Musicals tell stories using singing, dancing and dialogue.
(2) Musicals use an orchestra to accompany the singers and play background music.
(3) Some musicals were turned into popular oratorios.
(4) “lust a spoonful of sugar” is a song from Mary Poppins.

J
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